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For Q. No. 26 to Q. No. 35 In this type of questions, you are provided with the first and last parts of a sentence. The

remaining sentence is broken into four parts labeled (P), (Q), (R) and (S). You are require to arrange these parts so
as to form a complete meaningful sentence and then choose the correct combination.

26. 1) Thick glass may
P) Which are available
Q) of the home bottle-cuttiers
R) in many large stores, but any fine
S) be cut with one
6) glass requires personal attention
(A) PSRQ (B) QPSR (C) RQSP (D) SQPR

27. Atypical Prakash Padukone day
P) or even a game of tennis
Q) starts off
R) on some days
S) with an early morning
(A) QSPR (B) QSRP (C) RPSQ (D) RSQP

28. 1) Those who
P) expect others
Q) cannottreat
R) should not
S) others well
6) totreat them well
(A) QPRS (B) QSRP (C) RPQS (D) SRPQ

29. 1) When | reached my office
P) to get home early
Q) | phoned my mother
R) that | wouldn’t be able
S) totell her
6) as | had promised
(A) PQRS (B) QSRP (C) RPQS (D) SQPR

30. Jawaharial Nehru
P) under the Cabinet Mission Scheme
Q) was the first to articulate
R) long before such an assembly was set up
S) the idea of a Constituent Assembly
(A) PQSR (B) QSRP (C) RPQS (D) SRPQ

3. 0f
P) aforeigner wishes to
Q) learn standard English
R) learn English
S) he will, of course,
(A) PQSR (B) PRQS (C) PRSQ (D) SRQP

32. Only
P) to make himself
Q) by shouting at the top of his voice
R) was he able
S) heard
(A) PSQR (B) PSRQ (C) QPRS (D) QRPS

33. Whenhe
P) did not know
Q) he was nervous and
R) heard the hue and cry at midnight
S) whattodo
(A) PQRS (B) QSPR (C) RQPS (D) SQPR
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34. 1) A four-year study
P) that babies feel more comfortable
Q) conducted by the Infant Testing Centre
R) around other babies
) clearly suggests
) than with strange adults
(A) PRSQ (B) QPRS (C) QSPR {D) SPRQ

35. 1) Atthe end of the assignment
P) the field worker
Q) submitted his papers
R) for the work done by him
S) and also bills '
6) tothe office superintendent

S
6
A

(A) PQSR (B) QPRS (C) QSRP D) RSQP
Pick up the correct synonyms for each of the following words (Q. No. 36 to 37)
36. REVISE

(A) Edit (B) Alter (C) Correct (D) Reconsider
37. TERMINATE

(A) Suspend (B) Dismiss {C) End (D) Interrupt

Pick out the word that is most nearly the opposite in meaning of the word given in capitals.
(Q. No. 38to 40)

38. DEFICIT

(A) Superfluous (B) Surplus (C) Explicit (D) Implicit
39. ILLEGIBLE

(A) Clear (B) Imitable (C) Clean (D) Readable
40. GATHER

(A) Separate (B) Suspend (C) Scatter (D) Spend

In each question below, a phrase is given below which some alternatives are given. One of these is the most
appropriate word i.e. it best conveys the meaning of the phrase. Find out the most appropriate word in each case.
(Q. No. 41 to 45)

41. One whois interested in the welfare of women

(A) Feminine (B) Feminist (C) Effeminate (D) Flamboyant
42. A person who looks on the bright side of things

{(A) Sycophant (B) Optimist (C) Cynic {D) Pessimist
43. Design made by putting together coloured pieces of glass or stones

(A) Oleograph (B) Mosaic (C) Tracery (D) Relief
44. The school or college in which one has been educated ?

(A) Matinee (B) Alumni (C) Alma mater (D) Calvin
45. Loss of power to move in any or every part of the body

(A) Rheumatism (B) Paralysis (C) Eczema (D) Leprosy

In each of the following questions, a sentence is given with a blank to be filled in with an appropriate word. Four
alternatives are suggested for each questions. Choose the correct alternative. (Q. No. 46 to 50)

46. On account of his humiliating defeat in the recent elections, he appeared unusually when | calied on
" him the other day.
(A) oppressed (B) repressed (C) depressed (D) suppressed
47. It was difficult to see through the of the head lights of the cars.
(A) shine (B) glare (C) dazzle (D) brilliance
48. Anita me of a girl | used to know.
(A) remembers (B) recalls (C) recollects (D) reminds
49. His most striking is the enthusiasm which he brings to everything he does.
(A) character (B) factor (C) characteristic (D) attitude
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101. The temperature at which one crystalline form changes into other crystalline form is known as

(A) transition point (B) eutectic point (C) cryohydric point (D) melting point

102. On dilation, specific conductivity
(A) increases (B) decreases (C) remains constant (D) none of these

103. The unit of NaClis
(A) hexagonal close packed (B) body centred cubic
(C) face centered cubic (D) none of these

104. Which of the following reaction is unimolecular reaction ?

1
(A) H, +Cl, —2HCI (8) N,O5 — N,O, +EO2
(C) 2HI > H, +1, () PCl, +Cl, - PClg
105. A Calomel electrode is called as
(A) indicator electrode (B) null electrode
(C) single electrode (D) reference electrode

106. When solid is converted into liquid, entropy will
(A) remain constant (B) zero (C) decreases (D) increases

107. The reactive index of liquid is determined by
(A) potentiometer (B) conductometer (C) viscometer (D) refractometer

108. The reaction which proceeds with evolution of heat is called
(A) exothermic (B) endothermic (C) reversible (D) none of these

109. Strength of covalent bond depends upon

(A) number of electrons (B) the extent of overlapping of the atomic orbitals
(C) types of orbitals (D) type of hybridisation
110. The shape of PCls molecule is
(A) linear (B) trigonal bipyramidal
(C) tetrahedral (D) octahedral
111. Oxygen molecule is in nature.
(A) Diamagnetic (B) Paramagnetic (C) Ferromagnetic (D} Anti ferromagnetic

112. Number of atom per unit cell for calcium chloride is

(A) 1 ® 2 () 4 D 3
113. Co-ordinate bondis

(A) double bond (B) vander Waal's bond

(C) weakbond (D) semi-polar bond

114. An acid is substance having
(A) bitter taste (B) sour taste (C) soapy totongue (D) none of these
SPACE FOR ROUGH WORK
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115. Liquid sulphur dioxide is a

(A) protonic solvent (B) aprotic, auto-ionizing non aqueous solvent

(C) non-auto-ionizing (D) none of these
116. act as an 'universal solvent'.

(A) Benzene (B) Ammonia (C) Water (Dy Sulphur dioxide
117. Variable valency is general features of elements.

(A) s - block (B) d - block (C) p - block (Cy all
118. Magnetic moments are expressed in the unit called

{(A) Tesla (B) Guass

©) JT! (D) Bohr-Magnetons (BM)
119. Efficiency of a catalyst depends on its

(A) particle size (B) solubility (C) molecular weight () melting point
120. According to CFT bonding between metal and liquid is

(A) weak (B) covalent (C) semi-polar (D) 100% ionic
121. For propagation of longitudinal wave through a fluid the fluid, must have elasticity possessing

(A) Young's modulus (B) volume modulus

(C) modulus of rigidity (D) all
122. The human audible range is

(A) 20 Hzto 20 KHz (B) 2Hzto2 KHz

(C) 20KHzand above D) all
123. Ramden's eye-pieceis a

(A) Positive (B) Negative {C) Singie eyelens (D) Double eyelens
124. |\n Fraunhofer type of diffraction, the source and the screen are effectively at _ _ distance.

(A) finite (B) infinite (C) zero (D) none of above
125. The dielectric constant of air is

(A) zero (B) one (C) lessthanone (D) none of above
126. in a purely resistive circuit, the current with the applied alternating e.m.f. is

s T

{(A) inphase (B) outof phase (C) lagging by 5 (D) lagging by 2
127. According to Kirchhoffs voltagé law, the algebraic sum of voltages round any closed path is

(A) Negative (B) Positive (C) Zero {D) None of above
128. According to Biot-Savart's law, the magnetic induction 'dB' at a point, due to a current element, at a distance

ris
1
(A) dBar’ ) dBo— ©) dBa/\[ D) dBowr
r
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Semi-conductors have _ temperature co-efficient of resistance.

(A) Positive (B) Negative (C) Zero (D) None of above
Solar Radiation consists of

(A) UVrays (B) Infrared rays (C) bothA&B (D) none of above
The electronic device used to study the nature of wave form is

(A) CR.T. (8) C.R.O. (C) V.T.V.M. (D) None of above
De-Broglie wave length is given by A= (- ‘p'and'm' are usual notations)

(A) hip (B) h/p® (C) hip™ (D) h/m

'8 - particle is identical to
(A) neutron (B) proton (C) electron (D) none of above

The primitive cell of the crystal contains
(A) onemolecule (B) one atom

(C) one atom and one molecule (D) none of above

The forbidden energy gap (EG) in insulator is of the order of
(A) 5to6eV B) 2to4eV (C) 1to2eV (D) none of above

A temperature above which a anti ferromagnetic material behaves like a paramagnetic material called
(A) Curie temp. (B) Neeltemp. (C) transition temp. (D) none of above

Super conductor is also called as a
(A) bad conductor (B) hole conductor
(C) perfect conductor (D) none of above

Betatron accelerates
(A) only electron (B) only protons (C) only particles (D) none of above

The Scalar triple product of three vectors a, b, ¢ is defined as

(A) a-(b-c) ®) a-(bxc) (©) ax(bxc) D' ax(b-c)
Thermodynamics cannot be applied to ensemble.
(A) micro canonical (B) canonical (C) grand canonical (Dy all

The first part of binomial name of an animal is the .
(A) species (B) genus (C) family (D) order

The study of interactions between organisms and their environment is called
(A) cytology (B) physiology (C) ecology (D) zoology
The ability of the plasma membrane to let some substance in and keep others out is called
(A) homeostasis (B) selective permeability
(C) facilitated diffusion (D) osmosis
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144. If hydrostatic pressure is used to move a molecule through a membrane, this is termed as

(A) filtration (B) osmosis (C) active transport (D) endocytosis
145. are the functional units of an animal body.

(A) cells (B) tissues (C) organs (D) systems
146. Chromosomes become visible with the light of micro scope during phase.

(A) prophase (B) metaphase (C) anaphase (D) telephase

147. A DNA nucleotide consists of all the following EXCEPT
(A) abase (B) ribose (C) deoxyribose (D) phosphate

148. According to Charles Darwin, evolution is most closely related to which concent ?
(A) natural selection
(B) scientific creationism
(C) inheritance of acquired characteristics
(D) absence of change in a species

149. The development of pesticide resistance in crop pests is an example of
(A) macro evolution (B) convergent evolution

(C) micro evolution (D) mini evolution

150. The study of fossils is called as

(A) geology (B) biogeography
(C) comparative anatomy (D) paleontology
151, is the study of the kinds and diversity of organisms and the evolutionéry relationships among
them
(A) Systematics (B) Nomenclature (C) Biogeography ‘D) Hylogenetics

152. The type of symbiotic relationship where both species benefit is termed as
(A) parasitism (B) commensalism

(C) mutualism (D) symbiosis

153. In case of circle, if 'r'is radius of the circle, & 8 is angle subtended by minor arc 's', then following relationship

is correct.
(A) S=r0 .. (Binradians) (B) S=r0 ..(8indegree)
(©) S=+® ..(8inradians) (D) S=6/r ..(8indegree)

154. In case right angled Triangle, if AB and BC are Base and height of the triangle and C is Hypotenuse. Then
following sentence is true.

(A) AC2 = AB? + B(2 (B) AC=+AB?-BC?

(C) AC? = AB? - BC® (D) AC=+BC?- Iy
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155. The circumference 'S' of the circle whose radius 'R' is given by
(A) S=2nR (B) S= =R (C) S= nR?2 (D) none of above

1566. A function f(x) is continuous at a point x = ¢ in the domain of f(x) if

(A) f(c) exist (B) Lr_rpc f(x) exist ©) L'Q} f(x)=f(c) (D) All A,B,C fulfilied
157. Which of the following function is not continuous on real value ?

(A) polynomial function (B) sine function

(C) f(x) =tan x (D) cosine function

158. Derivative of the function for y = f(x) for small interval 'h' is defined as

(A) f’(x)=1("-Lf%)‘ﬂ (®) 103 =Imf(x+ )~ ()
©) f'(x):%m ) F(x)= mf(x_*”ﬂh);@

159. Integration is the inverse process of
(A) limit (B) differenciation (C) calculus (D) none of above

160. Correct 'order' of foliowing differential equation is

AN A
()

(A) 2 (B) 3 C) 6 (D) none of above
161. In which quadrant, all values of sine are positive 7

(A) quadrant Il and quadrant lil (B) quadrant !l and quadrant |

(C) quadrant lll and quadrant | (D) quadrant IV and quadrant |

162. Volume of cone with radius 'r' and height 'h' is given by

?h nréh nreh
A) mr?h B I ¢ MO D
(A) ®) 5 ©) 3 (D) )
163. Total surface area of sphere of radius 'r' is given by
(A) wr? (B) 2nr? (C) 37r? / (D) 4rr?

164. In trigonometric functions, which of the following is not true fundamental identity ?

(A) sin®B+cos?6=1 (B) 1+tan?8=sec?8 (C) sin?O+tan? =1 (D) 1+ cot?0 = cosec?0
165. Standard equation of circle is given by formula (with origin as centre and ‘a' as radius)

(A) x2+2y=a? (B) x? +y2=a? (C) 2x + y2 = a? (D) a2 + y2=2xy
166. Standard equation of parabola with focus as (a, 0) and symmetry about x axis is given by

(A) y?2 = 4ax (B) x2 = 4ay (€) y2 = 4ax? (D) X2 = 4ay?
SPACE FOR ROUGH WORK




109 A4- R AC O

167. Standard form of equation of ellipse is as below.

2 2
=1 ©) X +a2=y2b? (D) (x+y)?=(a+b)?

168. Solution of following determinant

(A) x2+y?2=a2+b2 (B)

3x 7
if X x4+1 =32 : then set of value of x will be
(A) (—8/4,3) (B) (—3/4,8) (C) (—8/3,4) (D) (8/3,—4)

169. The roots of standard quadratic equation ax? + bx + ¢ = 0 are

~b++/b? —4ac b++/b? —4ac +/b? —4ac vb? —4ac
(A) B B) o ©) —bi'—,,a—‘ ©) bi—2g—

170. The branch of mathematics dealing with collection, presentation, analysis and interpretation of numerical

data is called

(A) Geometry (B) Statistics (C) Algebra (D)) Trigonometry
171. Quartziteis a

(A) metamorphic rock (B) argillaceous rock

(C) calcareous rock (D) siliceous rock

172. Laterite is a/an
(A) volcanic rock (B) argillaceous rock
(C) calcareous rock (D) siliceous rock

173. The hardest rock is

(A) marble (B) diamond (C) talc (D) quartz
174. A good quality stone absorbs water less than

(A) 5% (B) 10% (C) 15% (D) 20%
175. PVC stands for

(A) plastic very compact (B) polythene vinyl chloride

(C) polythene vinyl carbon (D) polythene vanadium carbide

176. The black cotton soil
(A) swells excessively when wet
(B) shrinks excessively when dry
(C) has tendency of swelling and shrinking due to clay particles
(D) allthe above

177. Itf, andf, are the distances from the optical centre of a convex lens of focal length f to conjugate two points
P, and P, respectively, the following relationship holds good

A) T=t +1, B) f=—(t +1,) o 11,1 (D) None of these
2 A
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178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

The resultant of two forces P and Q acting at an angle 6, is
(A) P2+ Q?+2Psin® (B) P2+ Q? + 2PQcos 6

(C) P2+ Q% +2PQtan® (O) JP? +Q? +2PQcosH

If two forces of 3 kg and 4 kg act at right angles to each other resulftant force will be equai to
1

(A) 7 kg (B) 1kg (C) 5kg @) kg
Wi MAX is related to which one of the following ?

(A) Biotechnology (B) Space technology

(C) Missile technology (D) Communication technology

The ductility of material with the decrease in percentage elongation of a specimen under tensile

tez,sé‘t). increases (B) decreases (C) remains same (D) none of these
The centre of gravity of an equilateral triangle with eachside'a'isat ______from any of three sides.
(A) V3a/2 (B) 2V3a (C) a/2V3 (D) 3V2a
The minimum force required to slide a body of weight w on a rough horizontal plane is
(A) » sinf (B) wcosd (C) otand (D) none of these
The velocity of a body on reaching the ground from a height 'h' is
(A) 2Jgh ®) Jgh ©) 2gh () 2gvh
The range of a projectile is maximum, when angle of projection is
(A) 30° (B) 45° (C) 60° (D) 90°
The range of projectile will be maximum for a given velocity of projectile when the angle of projection (0) is
(A) B/2 (B) 30°+H/2 (C) 45°+B/2 Dy 60°+B/2
A block of wood is floating in a lake. The apparent weight of the fioating block 1s
(A) zero {B) equal toits true weight
(C) more than its true weight (D) less than its true weight

A fuse wire is used to
(A) make the electrical circuit strong
(B) convert AC into DC
(C) convert DCinto AC
(D) prevent an unduly high electric current from passing through a 6ircuit

A hydrogen filled balloon rises in air because
(A) the atmospheric pressure decreases with altitude

(

B) the acceleration due to gravity decreases with altitude
(C) the density of air decreases with altitude

(D) the buoyant force exerted by the air on a balloon is greater than the weignt of the balloon
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190. A moving body on earth ordinarily comes to rest by itself because of the
(A) law of inertia (B) forces of friction

(C) conservation of momentum (D) gravity

191. A rocket works on the principle of conservation of
(A) mass (B) energy
(C) linear momentum (D) angular momentum

192. Atemperature of 70°C is equal to
{A) 70k (B) 170k (C) 243Kk (D) 343k

193. A unit of energy is the same as that of
(A) work (B) power (C) force (D) acceleration

194. Blue of the sky is due to the
(A) refraction of white light by the atmosphere
(B) reflection of white light by the earth
(C) scattering of white light by molecules of air
(D) interference of white light

195. Cloudy nights are warmer because
(A) clouds prevent radiation of heat from the ground into air
(B) of low atmospheric pressure
(C) of the compact density of air
(D) more dust particles gather in the air

196. Coating of iron with zinc is known as
(A) galvanization (B) electroplating (C) ionization (Dy none of these

197. In deserts, clouds do not precipitate because of
(A) low pressure (B) low humidity
(C) high wind velocity (D) low temperature

198. Pa (Pascal) is the unit for
(A) thrust (B) pressure (C) frequency (D) conductivity

199. Rainbow isdueto
(A) adsorption on sunlightin minute water droplets
(B) diffusion of sunlight through water droplets
(C) ionizations of water droplets
(D) refraction and reflection of sunlight by water droplets

200. The flying birds is a proof of Newton's
(A) first law (B) second law
(C) third law of motion (D) both second and third laws
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